(x-0,9)(x%-6x+8)=(3x-2,7) (x-4)°

Ilepenecem Bce B JIEBYIO 4acCTb.
(%-0,0) X2-6x+8)-(3%-2,7) (x-4)2=0
1 2
3(3%-2,7)(x-2)(x-4)-(3x-2,7)(x-4)"=0
BriHocum 001111ii MHOKHUTEb.

((3x-2,7)(x-4))(%(x-z)-(x-4)]=o

PackpbiBaeM CKOOKHU.

(3x-2,7)(x-4)[%(x-z)-(x-4)j=o

pELIeHNE HCXOAHOIO YpaBHEHUS pa30MBaeTCs Ha OTAEIbHBIE CIIy4aH.

Crnyuaii 1 .
3x-2,7=0
3x=2,7
x=2,7:3
x=0,9
Crnyuaii 2 .
X-4=0
X=4
Crnyyait 3.

2(x-2)-(x-4)=0

1
§(x—2)—x+4=0

12
[gx—gj—x+4=0



X=b
Kophuu ypaBuenue: X=0,9;x=4;x=5

[IpousBenenue kopHeit 0,9*4*5=18



